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Instructions for Candidates

1. Write your Roll No. on the top. ir'nrhediately on receipt of this queét_ion paper.

2. All questions are éompulsory and carry equal marks.

3. Answers may-be written either in English or Hindi; but the same medium should
be used throughout the paper.
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Briefly review the progress of land reforms in India. What measures would you
suggest to make tenancy reforms in India ? (15)

OR

Discuss the relationship between policy regime and growth during ‘Nehru
Era’. ) (15)
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2.

Discuss the challenges in education, healthcare and women emancipation in the
light of development and participation. (15)

OR

Write short notes on :— (7% each)
(1) Tendulkar Committee Report on Poverty

(i) Mahatma Gandhi National Rural Employment Guarantee Act (MNREGA)
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What is Human Development Index ? What are the indicators used in the Human
Development Report ? - (15)

OR

Discuss the nature, extent and causes of poverty and unemployment in India.
Briefly review the policy of the government to solve this problem. (15)
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Why did agricultural growth in post reform period (that is, after 1991) decelerated
(slow growth), necessiating a second Green Revolution ? (15)

OR
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What are the main causes of low agricultural productivity in India. What
steps have been taken by the government to increase the productivity of
agriculture ? (15)
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. Exdmine the challenges and outlook for the industrial sector in India. What policy
measures would you suggest for this sector ? . (15)

- OR

From the following Table :—

(US § in billion)

Years Foreign Direct Portfolio Aggregate
Investment (Net) Investment investment
1990-91 0.1 0.0 0.1
1995-96 2.1 2.7 4.8
2000-01 4.0 2.8 6.8
2005-06 8.9 12.5 214
2006-07 227 7.0 29.7
2007-08 34.7 273 62.0
2008-09 417 ~13.8 279
2009-10 33.1 324 65.5
2010-11 259 31.5 574

(Data on FDI and Portfolio investment is based on BOP Accounts for different

years)
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Discuss and analyse :—
{a} Trends in Portfolio investment.

(b) Changes in Sectoral composition of FDI. (7' each)
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1990-91 0.1 0.0 0.1
1995-96 2.1 2.7 7 4.8
2000-01 4.0 2.8 6.8
2005-06 8.9 [2.5 21.4
2006-07 22.7 7.0 29.7
2007-08 . 34.7 273 62.0
2008-09 41.7 -13.8 27.9
2009-10 33.1 324 65.5
2010-11 25.9 31.5 57.4
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